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xyplot (Petal.Length ~ Petal.Width, data = iris, ##H AL &, Mo XL E
groups = Species,
type = c("p", "smooth"), span=.75,
auto.key =list(title = "Iris Data", #{&#|legend
x = .15, y=.85, corner = c(0,1),
border = TRUE, lines = TRUE))

#3% 2K R 4 4 T
xyplot (Petal.Length ~ Sepal.Length | Species, iris, type=c("p","smooth"))

#1% % Depth 42k 2 4% F &
Depth <- equal.count(quakes$depth, number=8, overlap=.1)
xyplot(lat ~ long | Depth, data = quakes)
update(trellis.last.object(), #FEEH
strip = strip.custom(strip.names = TRUE, strip.levels = TRUE),
par.strip.text = list(cex = 0.75),

aspect = "iso")
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J71%, Ph K dotplot, barchart, stripplot,bwplot %%.
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super.sym <- trellis.par.get("superpose.symbol")
splom(~iris[1:4], groups = Species, data = iris,
pch =c(8,19,24), col = super.sym$col[1:3],
panel = panel.superpose,
key = list(title = "Three Varieties of Iris", #1% #|legend
columns = 3,
points = list(pch =c(8,19,24),
col = super.sym$col[1:3]),

text = list(c("Setosa", "Versicolor", "Virginica"))))
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super.sym <- trellis.par.get("superpose.symbol")
cloud(Sepal.Length ~ Petal.Length * Petal.Width, data = iris,
group=Species, pch =c(8,19,24), col = super.sym$col[1:3],
screen = list(x =-90, y = -20), distance = 0.4, zoom = .7)
trellis.focus("panel",1,1)
panel.identify.cloud(iris[,3],iris[,4],iris[,1],labels=
paste(rep(c("Se","Ve","Vi") ,each=50) ,rep(1:50,3),sep=""))

g <- expand.grid(x = 1:10, y = 5:15, gr = 1:2)
ghz <- log((g$x"g¥gr + g¥y~2) * glgr)

wireframe(z ~ x * y, data = g, groups = gr,
scales = list(arrows = FALSE),
drape = TRUE, colorkey = TRUE,

screen = list(z = 30, x = -60))

2ol = 4E G %, W T ERFEAIEN WS M E. TeachingDemos 12 it T %fcloud,
wireframeZ: 1 Jit i R 7RI fE, 2% rotate.cloud, rotate.wireframe.
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library(rgl)

open3d ()

x <= sort(rnorm(1000))

y <= rnorm(1000)

z <- rnorm(1000) + atan2(x,y)
plot3d(x, y, z, col=rainbow(1000))
identify3d(x,y,z)

#press ESC to quit identifying points
rgl.snapshot("filel")

DA = 4t T

x <- seq(-10, 10, length= 30)

y <- x

f <- function(x,y) { r <- sqrt(x"2+y~2); 10 * sin(r)/r }

z <- outer(x, y, f)

z[is.na(z)] <- 1

open3d ()

bg3d("white")

material3d(col="black")

persp3d(x, y, z, aspect=c(1l, 1, 0.5), col = "lightblue",
xlab = "X", ylab = "Y", zlab = "Sinc( r )")
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utilities <- read.table(file = "T12-4.dat")
names (utilities) <- c("Fixed-charge coverage", "Rate of return on capital",
"Cost per kW capacity in place", "Annual load factor",

"Peak kWh demand growth from 1974",

"Sales (kWh use per year)", "Percent nuclear",



"Total fuel cost (cents per kWh)", "Company")
library(TeachingDemos)
faces(utilities[,-9], labels = as.character(utilities[,9]))

faces2(utilities[,-9], labels = utilities[,9]) # another function

stars(utilities[,-9], labels = as.character(utilities[,9]))
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parallelplot(~iris[1:4], iris, groups = Species,

horizontal.axis = FALSE, scales = list(x = list(rot = 90)))

library(andrews)

andrews(iris, type = 4, clr = 5, ymax = 2, main = "Type = 4")

source ("starcoord.R") # iR

starcoord(iris,class = T)

source ("mmnorm.R") # W IR 1
source("circledraw.R")

source("radviz2d.R")

radviz2d(iris)
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